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This one is rather lengthy. Lots of bonus.

Don't be afraid to be a bit exacting and ding them for small stuff.
All done reasonably well - 70 pts plus whatever bonus earned.
Mostly done - 50 points plus whatever bonus earned

Less than half done but more than one-fourth done - 30 points plus any bonus.

There's a detailed breakdown I'd like you to follow as a formative assessment., but the
summative assessment should be pretty easy to determine at a glance.

Finally, lack of context is 0.5 points off the top of each 5-pointer. After this, lacking
context will be 1 full point.
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As long as they show 2 y-values for one x-value, they're good.

They could also try to find f~inverse and show that it has two solutions, and isn't a function. If
their argument is sound, full credit.
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